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wive, "Hismv s i ; - :
) be My sister's san” B snvie (e my [ther-in-Jaw™. C savs, "I s my wifie's
imor . What can be the relititmahip hetween A and D?

Unicde-Nophew

Brother-Sister F
i Father-stn
I Cousins

» s S1ster. Cis B's mother. D iz Ce tather. B is D's mother. How 1= A related to D

Grandmother

CGrandiather
Daughtes |
i CGimnd Daughter
Two frequency distributions are given to you, To compare them visually, the best
cingErnm o he dreawn on il snme sheot 14
I'1e chart
{ Histogrmm
[ Frequency polygun

1 Bar chart
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Which index ny mber formula satisfies both the time Foversal and factor I‘E-?,i}'ﬁgg.l_
tesis?

A Fisher's Ideal index
I Laspeyres index
L Paa=cho’s index

[ Marshall-Edgeworth index

What ef the followings is not & test of adeguacy in the context of index numbers?

A LInit Test

B Sguare Test
LB Circular Teet
1 Factor Heversal Test

It the prices of all commodities in the base veay are twice the valies of the respective
commodities in the eurrent year, then the Pisher's ideal index number is equal'to:

i 204
E. b
K 400
[.. 25

Which index number formula does not satisiv the time reversal bost?
A, Fisher's1deal index and Lagpeyre's Index

B. Laspeyres index and Paasche's Index

. Passche's Indéx and Fisher's Ideal Index

.  Laspeyres index, Fisher's Ideal [ndex and Paasche's Index
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DaR
ip A user wanis to credte a paksword using 4 Jowercase Jetlers the) ik 2 ug .
latters (A-Z). Mo letter can be repested in any form. In. how MAnY Wiya can t’cut
ERELW ard e ereatod i the FIFI‘-wrflIli Ost alart with an ILFpEtL'[!I-e llﬂ-tu:""
A O Wh e 24w B %93 « B 2]
E ll.:l._!'l:"-.'i 3 E;l.‘_?_:.:.':‘
': JE:I' -'hi-:'?':_l.'.;"-l-,_!l.:_u} ]
I:I hle;x?d'jqxﬁﬁxﬂfﬂmﬂ[
LR ' wo girls are togethir
iz I how many ways can 5 bove and 3 girls sit in°a ToW 50 tliat o twio L
A 14400
B, 14,0008
(. 14425
Do 12400
! 4 i Ak asay that
i 1 *STADIUM" be arrangs
T4, I how many ways the letiers of Flsi wnE
the vowels all occtir together?
A, T
B. &t
Z 5l
3
; d on & shetf ane pariouie
wnt trophigs gan b prTAnged i
How gy can 5 difters :
.H e ke in'the middle?
teophy mitsl always be
A, M
B 12
R L
R, 14 :
DER
+
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{ 24)
DR
B2, i log, b=3 and log,e =2, then log ¢ &'
TR
B 6
= 9
L. i1
&3, £
If2' =4” =8 and By L -2; . then the value of 2 @8
2z Ay Br - o
A THG
i T3
{ T8
B R )T
8. A fraction becomes 1, when 3 are added to the numerater and’ 1 15 added to the

denominator, But when the numerator and denominater” are decressed ‘hy
2 and 1, respectively, it becomes 172 The denominator of the fractionis:

A, D
B: &
c. 7
D: 8

IF the four numbers 1/4, 146, 1/10, and 1ix are proportional, then what is the value of 5%

85,
A 14 i
B, 15
. 10
D 12
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i 1t f{x)=(x~2)x{x +1), then 24 _
dx
FL -'-3.‘I:':I -1
B; 8x 1
E X =3
D, **+3
7 T g e
BF. The li:1‘|£--— X Lo TR
zad x—2

¥ 4]
B. 1
| 2
1 05

28, Consider the following relations. on 4-'L={'l. 231, R= W1, 1) (2L 3143, Bj}.
= 1) (02 (2a) (2 2) (33), T={0:1) (2] (2.2} (2, 3)r and ¢= empty set
Which one of these forms an equivalence relation?
A, R
B. S
& T
[ &

a0 [f flx)={x+1)"". then find (o)
A B D
B =)
G =
D & ]
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Y . i ) K
rc:rl:lhTrJth : ;m:mm—,; 10 years ago.ag an investment. You originaily poid € 85000
you sald it for X 4,84,050, what Was ¥our annusl return on investmemt?.

A 47
B, &m™
C. 19%
0. 128%

What is the present value of an'j
e i nvestment that pays € 400 gt the e '
and £ 500 at theend of B yvears? ' RSt Tee

A, 2370
B T 335
& T 340
D 2 38]

AL 8% compounded annually, how long will it tale'? 750 ta double?

A.  G.9wvears

B 48 manths
| B 0 yvears
D 12 vears

You arve considering two investments: Investment A vields 10% compounded

i + s, SRR L R S A L
quarterly. Investment B wields ri% compounded semi-anmually, Both investments
have equal annual yields. Find r,

A, T1DBIS%
3 1%
. 108%

[} 10.125%
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A 9
5. 16735
(= 1105
‘D 104/105 4

“and 40% type B, what is thﬂ pti}hﬂf,‘lﬂ:ltf of | ﬂ: ﬂnﬂnpﬂ;ir‘ﬂ

defective”
A 0D4Z
B (03
C. 0048
D 0.052
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A guestion in statistics is given to three stidents A B Bl e ‘Ihe:lr
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A fe"
B 2™
D Seray

Firud the missing \ﬂmhmﬂm1ﬁlt 52,
A 1.95 R RS s . T
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